AR R

s o x —BEEMETCHE (REMLELEEER

15 | BEBTRTEAMSEEY S5

A i # A B 202247A26R 9:00
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
A
14,173,550
B
15,356,500
B AL
14,063,500
(¥R)yoo4
15,111,000
# A& AFLEZESEHEE ¥ 14,063,500

BB ZFHEE(I0%ME) ¥ 15,469,850



AR R

s o x —BEEMETCHE (EEM)NELEEER

15 | BEBTRTEAMSEEY S5

A i # A B 202247A26R 9:10
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
A
13,974,300
B
16,021,800
E R S AL
13,846,500
(¥R)yoo4
15,615,000
# A& AFLEZESEHESE ¥ 13,846,500

(FR)EFHEARE EALSE(10%ME) ¥ 15,231,150



AR R

% % 2 PRANFREVEBRBASZE

5 Fr | SEETIH/DNER

A i # A B 202247A26R 9:20
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
TR EAL
732,000
RIS
768,000
(B R E R S 3R i
% A& AflZR#HeE ¥ 732,000

(BB EIEBE(10WME) ¥ 805,200



AR R

s  p oz EEIBTARRNNBEEELEER

5 i | BEBSUGREE

A i # A B 202247A26R 9:30
AR BATIH R WERET 4112%= (RIEE4F)

E S & % 1 2 3 e
1 () <7ES AL
743,000
2 (BBAYYYIR
909,000
% L =F AHESEEE ¥ 743,000

#HO=ES ZFHEE(I0%ME) ¥ 817,300



AR R

¥ m & BHAE-BU-CHSEEEEHAREBEER

12 R EEEm mR—H

A i # A B 202247A26R 9:40
AR BATIH R WERET 4112%= (RIEE4F)

E S & % 1 2 3 e
(H)aRT
2,790,000
()T SR F—E X AL
1,920,000
) BB S
ShA () BR S
FUERGR) iR FR
H)TIHT
2,650,000
% L =F AHESEEE ¥ 1,920,000

(#A2IRY—ER EHALSE(10WMNE) ¥ 2,112,000



AR R

NEFEHEMRBAREBERR

B %
5 | OBET TRM BR
A # & B H 2022478268 9:50
A# BT B TR 411REE (IR
E 5 £ 1 2 3 &%
) F—k R 8
EREEH) BB BHR
AHERBE
2,880,000
HRE
2,680,000
BRFEL
2,980,000
EILRESR T £ R 8
H— (R
2,562,000
(R
2,800,000
AT AL
2,510,000
& \*L ] AfLEXHSE Y 2,510,000
WARERED) EALLREC10%ME) ¥ 2,761,000

218 :R4.7265%FLIRE DR E UEAALMIBRAEHIE) . RA.T297%FLBHIRTE



AR R

= 7% 2  BBRETERHMRPOHEHNESECENRERRERRT
5 i SRHEREIRX P m#ihiE SR GRERT ST F/E6063iHh)

A & A H 2022478268 10:00

AR BOIT B TR 41125BF (RIgE4F)

E S = £ 1 2 3 =
17—k F31c] 5B
2 HBERER #iR #R
3 ARERBRRE R iR
4 ES

1,080,000
5 (BEETYY E=2ic) 5B
6 (BEFET 58 5B
7 EIWLRESTEM 3B E2
8 E—MEGR AL
530,000
9 (MEBEIXE R R
10 (430 R 5B
1 WERBEG) R R
x L& AHEZREHLE ¥ 530,000
FE—EE EALSE(10%ME) ¥ 583,000



AR R

% % g FAIRCHZA-RAERFETS

5 | REMATEEETAI515% M EIRERAR

A i # A B 202247A26R 10:10
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
(B EA A
1,332,000
R
1,424,500
) EEE R EAL
1,161,280
# A& AflZR#HeE ¥ 1,161,280

FIBEARL ZFHEE(I0%ME) ¥ 1,277,408



AR R

% % 2 WEBXLMABILRB R

12 i EEBHFEHLGEE,

A i # A B 202247A26R 10:20
AR BATIH R WERET 4112%= (RIEE4F)

E S = £ 1 2 3 =
T () 58 T
FENAEGR)
1,960,000

B AEEG)
2,092,200

T MBI SEAL
1,120,000

% A A& AflZR#eE ¥ 1,120,000

T ME#HE) FEHEFECI0%ME) ¥ 1,232,000



